
 

  GENERAL INSTRUCTION:

1. All the Questions are Compulsory 
2. Read the paper carefully and attempt all the questions..

(Q-1) Multiple choice questions:

1. In 1849, Governor-General Dalhousie announced the death of ________.
a. Rani LaxmiBai
b. Bahadur Shah Zafar
c. Nana Saheb 
d. Tantiya Tope 

2. Which among the following are fibre crops?
a. Millets and Maize
b. Jute and cotton
c. Tea and Coffee
d. Rice and Wheat

3. Judiciary play an important role because it is
a. Independent 
b. Dependent on lawyers
c. Dependent on government
d. Dependent on minister

4. The subordinate court i
which of the following:

a. Apex court 
b. Additional Sessions Judge
c. Trial Court or the Court of the District Judge
d. Chief Judicial Magistrate

5. To which tribe did Birsa belong to?
a. Kols 
b. Mundas 
c. Oreons 
d. Santhals 

 

 (Q-2) Fill in the blanks: 

1. Silicon Valley is located near the 
2. The Revolt of 1857 began from
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SECTION – A 
1) Multiple choice questions:      

General Dalhousie announced the death of ________.
Rani LaxmiBai 
Bahadur Shah Zafar 

Which among the following are fibre crops? 
Millets and Maize 
Jute and cotton 
Tea and Coffee 
Rice and Wheat 

Judiciary play an important role because it is 

Dependent on lawyers 
Dependent on government 
Dependent on minister 

The subordinate court is more commonly known by many different names except 
which of the following: 

Additional Sessions Judge 
Trial Court or the Court of the District Judge 
Chief Judicial Magistrate 

To which tribe did Birsa belong to? 

       

Silicon Valley is located near the _________ Mountain. 
The Revolt of 1857 began from __________. 
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3. ___________ and ____________ gathered forces for the revolt that spread across the 
plains of north India in 1857. 

4. _________cultivation is also known as shifting cultivation.  

5. ______________ means commercial rearing of silk worms. 

SECTION - B 

(Q-3) Match the columns:       [4 Mraks] 
 

i. MangalPandey (a) Sovereign Paramount 
ii. British Queen (b) Rani AvantibaiLodhi 
iii. Madhya Pradesh (c) A Maulvi 
iv. Ahmadullah Shah (d) Barrackpore 

 

(Q-4) True or False        [4 Marks] 

1. People were allowed to move freely in reserved forests. 

2. Osaka is known as ‘Manchester of Japan’. 

3. Forest based industries utilise forest produce as raw materials. 

4. The British were very happy after the 1857 revolt. 

5. There is only one Supreme Court in India. 

(Q-5) Answer the following in Short: (Any 4)    [4 Marks] 

1) Why were the India sepoys unhappy?  

2) Who was Rani Lakshmibai?  

3) What is meant by the term ‘industry’?  

4) What is Judiciary?  

5) What do you mean by violation?  

[Q-6] Answer the following in Brief: (Any 1)    [3 Marks] 

1. What climatic conditions are needed for rice production?  

2. Briefly describe the functions of Judiciary. 
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